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1. geemef OMR Jviv- must enter his / her
v gierar mHie Booklet Serial No.
HTvT ford | . (10 Digits) in the OMR Answer

Sheet.
2. Tl FErgE andidates are required to give
. F T wers in their own words
% practicable.

3. qMeAt R @l HF 3, Figures’ in the right hand margin
g fFfee #wd & indicate full marks.

4. go F Wﬂﬁ‘%’ of extra time have been

| Wt # 15 f the candidates to read

. GHY foar mar &

the questions carefuily.
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5 T e YR gt wvsl § &— 5. This question booklet is divided into

GUS- 05 mueg-a/

Section-B.

two sections — Section-A und

. I
. Y- § 70 axgfrs wov & 6 In Section-A,  there  are
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ST 34 W g9 35 F7 & goaiwT
BT e % o 1 si e
$THI ITY 74 & [0 3yeTeYy I
T OMR 3IW-74% H 77 710 el
faFeq & At / Fret @fer 97 @
gmE F fEEt W TR @
. WEST/ T wgref / =E / ArgH
AMfE FT OMR Fa7- 9AF § 9GT
FTAT GAT &, AT qET GROMH
emrr BT

@UE - g8 2007 I AT E |
e & o 2 e freiiRa &
3 fret 10 WAt FT IFT IFW
sfyard & | % ARk 39 @UE
F ¢ i sedtw weT R T E
gl & fow s o fuiika 8, B
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g ot At &

70 objective type questions, oui
of which any 35 questions are te
) If more thar
35 questions are answered, ther
only first 35 will be’eua!uatec’
Each question carries "f'rézrk, Fq
answering these darkefnthe circk
with blue / black ball pen agains
the correct option on OMR Answe
Sheet provided to you. Do not us
whitener / liquid / blade / nai
etc. on OMR Answer Sheel

be answered.

" otherwise the result will b
‘treated invalid.

. In Section - B, there are 20 sho!

answer type questions. Ea
carrying 2 marks, out of whi
any 10 questions are to |
answered. Apart from these, the

are 6 long answer ty
questions, each carryt'
5 marks, out of which @

3 questions are to be answere!

-

Use of any electronic appliances
strictly prohibited.
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WUE - A / SECTION - A

TS W / Objective Type Questions

nyT 9Er 1/ 70 'Wérmm%mwﬁmﬁvwi forrd @ o
wﬁ?:mmg#wm?a%m#omsﬁzwﬁm%aﬁ:w
35 Wyl Fr Iw F 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR-Sheet. Answer any

35 questions.

1.

35x1=35

Tmiar % foraw W18 & WM, YOI % g Ua Inqferat faehRia B ¥ 2

© 17 D) 67®

After how many months of pregnancy, do limbs and digits of
embryd develop ? |

(A) 2 months- (B) 3 months

(C) 1 month (D) 6 months

fraforfaa 3§ @ 31 Wil aon § SR fvd o g 2

@) TR B wfe

) dafie (D) i g

Which of the following secretes 1arge amdunt of progesterone ?.
(A)  Graafian follicle (B) Corpus albicans

(C) Corpus luteum (D)  Primary follicle
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et 3 g sieny R i ang @ B @ d 2 |
(A) ¥t frle (@R Weae) (B) SN I

(C) =R Hfaewd (D) T &R (i FR)

After ovulation the ovum is surrounded by a group of cells called

(A)  Corona radiata . (B) Zona pellucida
(©) Granuldsé cells (D) Theca layer
forferfga # & W7 e smP R 2 |

B T B) wufE ISH

©) fefas oz (D} TH

Which of the following cells is hap_loid ?

(A) = Oogonia L {B}T Primary oocyte
(€) - Secondary oocyte (D) Zygote

o T m P el A R-Rgen &, R w R 2
By o T St 20 | B) TR

€ ueh - ) e

A ﬁcw contraceptive pill \.yhich is non-steroidal is referred as
(A) LNG 20 | (B) Progestaset

(C) Saheli (D) Lippes loop

2001 & FOFT % FFER TRE 6t IS Jfg T T ?
(A)  1'1% B 3%

(C) T 2% ‘(D) 3%
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What is the population growth rate of India as per 2001 censys ?

A)  1:1% (B) 37%
(C) Approximately 2% (D) 3%;
7. Trafafes 3 @ w7 siq: ™iveh gfe g oo 2 2

(A) ﬁaﬁaﬁg 375 (B) @ H-20

(© fRewa . D) Fw-A
Which of the following IUDs is hormone ;'eleasing ?
(A) Multiload 375 '- (B) LNG-20
(C) Lippes loop (D) Cu-T

8. Fiefufes § @ W-a1 wew oAy A Ml F w0 F @ 2 2
(8) e i rdwaft wRighy @ @ |
(B) ere i SfER w1 e G S e @
() el & farelt oft ot & aRomTREEY Seafada B
(D) EET H A R SRR Fa g @
Which of the follou:ing statements fis incﬁrrect abbut DNA
replication ?
(A) DNA replication is semi—conservativg'
(B) Main enzyme for DNA replicatior_l is DNA polymerase
(C) Mutation appears due to érror in replication

(D) Replication on both strands of DNA is continuous
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10.

)
(119]

fiefefea 3§ & W (oA TERERS AR F aﬂé@q%géawﬁa?
(A) IR HeARS (B)  TRET GTEA |
(C) IRUAC ufefidis 11 (D)  HFNTAY GTeAE I

Which of the following enzymes is responsible for transcription of

- ribosomal RNA ?

(A) RNA polymerase - (B) RNA polymerase I

(C) RNA polymerase Il (D) RNA polymerase I1I
@aﬁm'ﬁrlﬁé@q@ﬂmﬁﬁmﬁm%ﬁéaﬁgaﬁw
F5d 8 ? |

(A) FEfey ' (B) IUBIEd
(€ i ) fafe
Some amino acids are coded by more than one codon, Such code is
known as |
(A) unambiguous (B) degenerate/redundant
 (C) universal D) specific
11, & A A ysﬂ#aﬁiﬂﬁww% ?
@ e ArRraTgSS 1 FE ACH
(B) qrnﬂqal T f AGT
(C) zrmmﬂ A F1 He S
(D) TECREARNT F1 FE TG
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What is the role of y gene in lac operon ?
(A) .Codcs for B-galactosidase
(B) Codes_fo_r permease
(C) Codes for repressor gene:
(D) Codes f'or transacetylase |
12,  gUSHE s fpass srerm ot snaiia R 2

(a) it frew (B FeFIETE fomm
© w0 (D) vward e
Paleontological evidence is based on the study of
(A) embryological development

'(B) .comparative anatomy - .
(C) fossils

(D)  divergent evolution

13, qed w9 Hd T quid # 2

(a) e o (B) Pt fawmm
(C) AR ‘ (D) AR
What do analogous structures show ? .
(A) | Divergent evolution (B) Convergent evolution
(C)  Parallel evolution (D) Saltation |
14. Wit TET-Rel # @ g o |
(A} 18,000 7% (B) 10,000 9¥ g
(C) 75,000 ¢ gd (D) 40,000 a¥ &
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When did pre-historic cave art develop ?

(A) 18,000 years ago (B) 10,000 years ago
(C) 75,000 years ago (D) 40,000 years ago
15, U o wre A fow e At aed & 7
(a) fefe B, B) fafma |
‘ \(gl/ﬁafﬁ? c (D) faafim B,
Amount of which vitamin increases after conversion of milk into
card ? '
(4) Vitamin B, (B) Vitamin A
(C) Vitamin C '(D]* : .Vitamin B, o
6. froffen # @ fra dwdter w @ w0 b wE d ordww AR
Ffffer g P |
@) R B o
€ Cfrwm (D) wwRefEE

Alexander Fleming discovered penicillin while working on which of

the folloWing bacteria ?

(A) Streptococcus | (B) Acetobacter

(C) Staphylococcus (D) Lactobacillus
{7 frafafed § @ F FORTA F AT H Va1 8 ?

(a) S B R

(€ Yhehfer o @R

——
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Which of the following inhibits synthesis of cholesterol ?

(A}  Protease (B) Streptokinase
(C}  Penicillin (D) Statin
18. IRy It & wyul ur 91 i awwar B F=0 HEa & 2
(A) Faw Hauq (B) wg@IRHAl
(€ T www (D) q& v
Capacity to generéte a whole plant from a plant cell is cal]ed as
(A) Tissue culture (B) Pluripbtency
(C) Totipotency (D) Micropropagation
19. TRurds fmfafgs smad # @ s 2 2
By~ T ' B) =
© 93 o
Hisardale is a breed of which of the following animals ?
(A) Cow | (B) Buffalo
(C) Sheep ' (D) Chicken
20. m&mﬁamm%mammwm@mm
fosar ar o 2
(A) SEREdT S : (B) wEgforestor
(C) wa- (D) ¥ HEHq

Which of the following techniques was used to get yellow mosaic
virus resistant mung lentil ? |

(A)  Mutation breeding (B) Introduction

(C) Hybridisation (D)  Tissue culture
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23.

[119)
m%mﬁwm@gﬁmﬁmﬁﬁwmg Reee
QUi W
(A) =W IERE (B) A smafE B |
© iR A D) 2w % R & SR g
Reason for movement of DNA fragments. towards anode in

electrophoresis is DNA fragments being

(A) Negatively charged

(B) Positively charged
(C) Charged .
(D) Charged with charges of both types

ﬁmﬁfﬁaﬁﬁﬁaﬁqﬁ%ﬁﬁwﬁm(mm)m%%qmnﬁqﬁ%?

(B)— S R (B) Tk g

(& W D) THerh (SIE)

Which of the following is not rés_ponsible foi' veget-ative propagation
of plants ? |
(A) Offset (B) Bulb

(C) Rhizome « (O) Gemmule

Profofs § @ F-m e mE ?

) TR ¥ e e 3 ARfesR w ERRe w §
(B) @RI IVERTIRAE

(© Reafo o, s P % g g W &

(D) ﬁmsﬁwﬁaﬁﬁma‘ﬁmm%
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Which of the following statements is incorrect ?
(A)  Antheridia are present on antheridiophore of female thallus

of Marchantia
(B)  Chara is monoecious
(C)  Diploid gene forms gamete after meiosis
(D) Zobspores are formed in CMamyciomonas

24. Frefafes § 3 feg 0 9 S o sd’ wE SR 2

(a) el JB- W\
(C) &M (D) TR
Which of the following plants is referred to as"Terror of Bengal' ?
(A) Water hyacinth (B) Bamboo |
(C) Lantana . (D) Parthenium
25. frafafea & & w19 oy domqush = fiwn 7@ 2 0
A)  Faefifem | (B) ew
(© wrg-w O WwiEm
Which of the following is not a part of migrosporangium ?
(A}. Endothecium tB) "~ Tapetum
(C) Epidermis (D) Micropyle

26.  smgwch Nef 3 Pt 3 3 few AT B R % T @ W
s ¥ a § ? |
(A)  FIiyw Hif¥Ewr (B) I #IRmE

Je) YA A FRET (D) Y ey
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28.

29.

[119]

Which of the following cells divides to form two male gametes in

angiospermic plant ?
(A)  Vegetative cell (B) Generative cell

(C) Microspore mother cell (D) Microspore

frfofea # @ 1 sle-Tgem A A IR ?

(A)  HEE B (B) S

©) it it (D) GgE9 =

Which of the following is not associated with egg appafatus ?
(A) Synergid ; (B) Egg

[CI Antipodal cells (D) | Filiform apparatus
T % I 3 Twew (o) B T FE E P ’
()~ T S B E

(C) . T =T D) i e
Scutellum presént in the seeds of grass is called

(A) Endosperm (B) Cotyledon

(C) Seed coat | - D ' Embryonal axis

TeT- 1-UAR i w1 @ 2

A TemEsERd @) e IERd
¢ Howeddarwed (D) wEd IR d
What is the use of alpha-1-antitrypsin ?

(A) In treatment of emphysema

(B] In treatﬁent of asthma

(C) As insecticidal protein

(D) In treatment of diabetes
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30.

31.

32.

Frefrfea % & frw fafty gro fees s o1 sy far d -
(A) TTEERATH (B) IR
(C) PCR (D) & YauT

Which of the following methods is used for the amplification of

nucleic acid ? -
(A) Transformation (B) - Transfection
(C) PCR - (D) Micropropagation -

8. pH W defierr giafmeEte % g0 Ff FeTs A a@fba |
ST 8 ?

(A) AT pH (B) &4 pH
(C) I pH ,’(D)/qﬂﬁa‘lﬁﬁﬂﬁ?(mpH

At what pH insecticidal protein synthesized by Bacillus

thuringiensis becomes active ?
(A) Acidic pH
(B)  Alkaline pH
(C) Neutral pH
(D) First acidic then alkaline pH
s 3 el F g 35 s 1 Q3 g S s s
sirar 2 forad gaefy fafere St forg daress gro e s 2 2
(8 St (B)  TaRRE
(C) ¥R et (D) ofRfem
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34.

[119]
RNA interference is utilized to prevent nematode infestation in

tobacco plants. By which vector are nematode specific genes

introduced ?
(A) Bacteriophage (B) Retrovirus
(C) Escherichia coli (D) Agrobacterium

Srawd <Te ) e frat wwa S S € 2
Ja 20 | B) 15

€ 27 D) 5

How many varieties of Basmati rice are grown in India ?

A) 20 B) 15

c) 27 . D) 5 .
frafafge § § S @eT L. yEuE daft S B Juiea @
.. S5t ¥ afaw $ gen w P ad @

@A) faem o st o ®) S renfeEh fawm

Q SRS D) N T HEied

Which of the following organiza'tions makes decision regarding the

validity of GM rescarch and the safety of introducing G¥
organisms ?

(A) Department of Science and Technology

(B) Departnient of Biotechnology

(C) GEAC

(D) Indian Patent Office _

24 /A [ XI1-5009-(35/40) Page 14 / &




35.

36.

37.

(119 ]

eE T %1 AW fhw S f sqEam A e 2 2

(A) SRRt (B} Stasitenfih

(© &fa wif (D) AR

Name of Ramdeo Mishra is associated with which field of
research ?

(A) Ecology (B) Biotechnology

(C) Green revolution | (D) Genetics

reafeen 3 & F el 3 forg s dare T 2 7

(A)  Sampnsh (B) g

(C) pBR322 | D) A-AEe

Which of the folldwing is not a cloning vector for bacteria ?
(A) Bacteriophage- [Bj Plasmid

(C) pBR322 (D) T-DNA

ﬁnﬁﬁ%aﬁﬁﬁwﬁﬁrﬁgqﬁmémqaﬁmﬁﬁﬁﬁm%mﬁ
3ia: Qe foa S &

() grEs B wE

€ St™ | (D) |& Fa-&qu

Which of the following methods is used to inject recombinant DNA
into nucleus of animal cell directly ?

(A) Transfection | o (B) Transformation

(C) Genegun - (D)  Microinjection
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39.

40.

| 119]

m#mnmaﬂmwammh
) TS (B) Her
€ Froa (D) wrfe
For isolation of DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase
(C) DNase (D) Chitinase
Prffga 3 @ 9 pBR322 A A 2 ?
(a) Wi =t efs B) wReTa &
© @-gEe (D) st S
Whicﬁ of the following is absent in pBR322 ?
(A) Origin of replication  (B)  Restriction site
(C) T-DNA - (D) Antibiotic resistant genes
o wrEl d W PR EEfReE aRd i § = R s,/ e

nfRE 1

(A) wedrdfer sfete wEw €@ SR
B) grETsfEA-wfdy wWE € Irm
) wfafafem sram @ I@m

(p)  wedehferm fvt s wog €@m
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41.

42..

43.

(119

If a foreign DNA is inserted in tetracycline resistant gene, the

recombinant plasmid https://www.bsebstudy.com

{_A) Will lose ampiciliin resistance
(B}  Will lose tetracycline resistance
(C) Cloning would become easier

(D)  Ampicillin resistance will become stronger

frferiaa # @ fora shamy @ arqerht e oiehite s e w2 2

(A) wefeiam (B) uwa uslowg

(C) wIMRFNEH (D) -anfhawifan

Ffom which of the fdllowing bacteria, thermostable DNA
polymerase is isolated ? |

(A) Agrobacterium (B) Thermus aquaticus

(C} Methanobacterium (D)  Archaebacteria

Prferfae 3 & 3 Shamy Herem W deafa w2 2

(a) wiRfRfiEm (B) & yfaRmdia

(C)  FERRFAT Hict (D)  snfhawdfen

Which of the following bacteria synthesizes insecticidal protein ?
(A)  Agrobacterium (B)  Bacillus thuringiensis

(C) Escherichia coli (D)  Archaebacteria

HIV T 7 e SR W amshaor +tar § 7

(A)  B-HIfH (B)  T-fw

oy wtfufera Hifiem (D) T-Be9 IR
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HIV attacks on which of the following cells ?
(A) B-cells (B) T-cells
(C) Epithelial cell (D)  T-helper cell

44, _aﬁﬁﬁwﬂmﬁﬁsmmﬁw,qm%ﬁmaﬁ?ﬁmw
g & ? o | |
(A) TS B) PEeE
(C) FI=E (D) eEfifthHE

r soluble nutrients into the soil

Going down of inorganic wate
nutrients is called as

(A) Fragmentation (B) Leaching

(C) Catabolism (D) Humification -

45. mﬁ%mﬂaﬁmmﬁﬁmmﬁ%? -
@) 7 T ‘ @) 15 Rl
c)  20-25 AR | D) 2R
—
According to Robert May how much is the global species

" diversity ? ‘ |
') 7 million (B) 1-5 million
() 20-25 million (D) 2 million
' 46. mﬂﬂaﬁrﬁwﬁﬁﬁgﬁﬁaﬁﬁmmmm% ?

(tAl/ 2:4% (B) 81%.
c 5% (D) 9%

e
24 | A/ X11-5009-(38/40) Page 18/ 3
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48.

| | [119]
Biodiversity of India is what percentage of the total globa] species

diversity ?
(A}  2-4% . (B) 8'1%
C) 5% (D) 9%

R e 6 Rrafre Tefwl $ 200 & s TRE ¥ R @

HROT 4T AT ? _
(A) HEfaeEa (B) Tt st hr armsmar
() fa e (D) aarE gy

What was the reason for extinction of more than 200 species of

Cichlid fish in Lake Victoria ?
(A) Co-extinction (B) Alien species invasion

(C) Overexploitation (D) Habitat loss

frefifad 3 @ 99 favaemd 39T S SR T8 2 0

 Sfamm T -
ﬁ/ f‘!F[?Fr. ~ (B)  SREH

() EE fawne (D) mﬁnﬁﬂmﬁaﬁ-‘r

Which of the following is not the reason for global warming ?
(A) Use of fossil fuels

(B) Deforestation

(C) Population expldsion

(D) Improvement in the efficiency of energy use
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s0. Preffum & & W wo da Qe & Ak oree ¥ 7

@ T
(B) Y 3vafye 3w A ®

(C) TEYA &1 Aftrwad I

(D) TEEfA® IEEH H AT

Which of the following statements is incorrect about organic
farming ? |

(A) | It is lcyclic

(B) Zero waste is generated

(C) Maximum utilization of resources

(D) Use of chemical fertilizers

s0. w3 R & PR § @ P s R o
(A) TTIHH HER HEaqul JATSi e 2
(B)  rRa fgaq T & v & A W wear
() e S wg A wgar
(D) a9sHA 9ETS F Rraw W Fw g 2

24 /A /XII-5009-a5/40 ' Page 20 ﬁ
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S2.

(119
Which of the following statements is incorrect about temperature ?
(A) Temperature is the most important environmental factor
(B) Temperature decreases from the equator towards the pole
(C) Temperature increases with increase in height |

(D) Temperature is low at the summit of a mountain

aﬁaﬁﬁwﬁ@z)aﬁﬁmﬁamﬁmmwﬁﬁwmﬂmmm
ﬁmm%?

A =RwR (B wRE

(C) WHEH &R (D) urifeufas = -

At which level is natural selection operated to evolve the desired
| &aits ? | | | | |

(A)  Individual level ' (B) Population level

[C) Commumty level (Ij) _Ecosystem level

aHa gt % g Rafie § saa-gd, w—mqamﬂmmaﬁ%azﬁﬁﬁ
%1 wfowrd F9: g2d 9 | 8 @ 98 wafsfia wwar @ f aufy

A T B wmwd

© femri D) R

When percentage of individuals of ﬁre-repmductive, .reproductive
aﬁd post—rgproductivel. phase is in decreasing order in the age
pyramid of human population, it shows that population is

(A) Expanding : (B) Decreasing

(C) Stable . (D) Unstable

24 /A /XII-5009-(as/40) Page 21 / 32




- - | [119)

53. Prafafee § @ A e § o a1 o W@ & ?
(Al ¥t wETATTi AT Ao T W
(B) .
(C) vusf Qﬂ I
(D) it wd o |
Which of the following reproduces once in a lifetime ?
(A)  Pacific salmon fish and bamboo
(B) Mammals
(C). Birds and mammals
(D)  Litchi and mango
54. dEeR $ gig fFwa: geft et & w-ue @ =1 SR = 91 2
(&) el IrgEs (B) damA fawem
(©) W D)  weife

[~
What was the reason for co-existence of five closely related species

of warblers ?

(A) Competitive exclusion (B) Resource partitioning

(C) Parasitism (D) © Commensalism

—
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s5. frafafn # @ ®F-w1 dur falken wgy wreETs I w@r e o

(A)  Fwg (B) Feigfeq

C) Iy D)

(C) (D) d9TR

Which of the following plants produces poisonous -cardiac
glycoside ?

(A) Cactus ' (B) Calotropis

(C) Coffee plant (D) Tobacco

56. ﬁw%f@affﬁaﬂqm%_?

(A)  F9% & T (B) H% T fammy
(C) %% Td Sfam (D) e, STy oo femmy
Which of the following are decomposers ?
_(A) Fungi and algae - (B) Fungi @d virus
(C) Fungi and bacteria (D)  Fungi, bacteria and *vnrus

57. a@mﬁmwm@iwmmwmﬁm%ﬁﬂ%
HH & Boraed, F At et gat areft off @ ¥ fraet semmor 2 2

(A) wwifer (B)  wEwwiferan
(C) amfwf%m (D) froate st w1 fasor
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59.

[ 119

In a cross between true breeding red flowered and true breeding

white flowered plants of Antirrhinum the F, generation was pink

flowered which is an example of

(A) Dominance

(B) Codominance

(C) Incomplete dominance

(D)  Blending of contrasting forms of a character
frafefes & & # %o swe R ?

(A) vl 5 Prafor s @

(B) e fafaes gia @

(C) e & HH A § g &

(D)  3refier 1 9™ ¥ [T gan 8

Which of the following statements is incorrect ?

(A)

B)

(€

(D)

.Characters are controlled by factors
Factors are discrete
In pea, factors are in pairs

Alleles blend with each other

T IIYEA & a9 T FINET I T R 2

(A)
(B)
(C)
(D)

Frefter =1 aftigur 3 2 - (

T I F et T a0 THT e B E
Frefter st A Tt B wena #

Hersl 1 I I Ok g A W w9 @ dheag B
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What is the cytological basis of law of independent assortment ?

(A)  There is no blending of alleles
(B)  Alleles of a pair separate during gamete formation
(C)  Alleles may be dominant or recessive

(D) Pair of chromosomes arrange themselves

independently in metaphase I

60, ST 1 Fse R et s o >

(a) " (B) ¥ G W

{c) wmi ) T

Who propounded the c-hromosomal theory of inheritance ?
(A) - Mendel (B) Sutton and Boveri *
(C) Morgan ' (D) Henking

61. . ffafes § & # wriventta R 74 2 »
) s figw B v g
© TRfwgm (D) deirhifern
Which of the following is not a chromosomal disorder ?
(A) Down's syndrome (B) Klinefelter's syndr::;me

(C) Turner's syndrome (D)  Haemophilia

62. Ay i X-fetor e srtwer fewa foar 2
(a) i fafeea o defde el
(B) =R
(C) dreE W fnsh
(D) wfeft

in

line
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Who provided X-ray diffraction data of DNA ?

(A) Maurice Wilkins 8 Rosalind Franklin
(B) Chargaff
© Watson and Crick
(D) Holley
63. HEIFEmF AadFmmar?
(@) Sfray s vad e @

D) frwwoy w1 g vered AT R

What was the conclusion of Hershey and Chase experiment ?
(A) Genetic material of bacteria is DNA -

(B) Genetic material of virus is DNA

(C) .Genetic material of bacteria is RNA -

(D)  Genetic material of virus is RNA

64. ﬁwﬁiﬁaﬁﬁﬁaﬁamaﬁm(ﬁﬂ%)'ﬁ%?.

(A) UAG | B uea -
(C) AUG D) .UAA

Which of the following is not a termination codon ?

(A) UAG. B uca
(C) AUG o) UAA

| 24/A/XII-5009-(s5/40)
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65. I ANTAT & SAvfrawwr i 7y 7% B 7
A T s mqqq ¥ i T 1 E
(B) 3T AR it T & e
(C)  IRGT #1 Frgergm
(D)  HANTAY F7 wqraeer |
T'.'r'i.fhat is the meaning of charging of t-RNA ?
(A)  Linking of amino acid with cognaté t-RNA
(B) .Attachment of t-RNA with ribosome
(C) Translation of RNA
(D) Modification of RNA
66. Tt § & F arwHms I R 2
(A) U (B)  weifem
© Fw D) s

Which of the following is a non-infectious disease ?

(A) AIDS - (B) Malaria
(C) Cancer (D)  Typhoid

67. frafafs § @ frg ™ IV 9t .o w.oa. w5 § »
(A) fermEmse (B) TR

(€ e | (D) =eeRE

I}
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68.

69.

70.

[11‘91i

Which of the following blood ;:clls is known as PMNL ?

(A) Lymphocyte” (B) Monocyte
(C)  Neutrophil _ (D) Platelets
frfefan § & frah sgm S Tad 2 2
(A)  IgA (B) IgG

(C) IgM '. (D) . IgD

Which of the following is abundantly found in colostrum ?

A)  Iga B) 1gG

© 1M° (D) Igd

(a) HieA ‘B) W

€) Ffies D W=

What is diacetyl morphine ?

(A) Codeine ~ (B) Heroin

(C) Cannabinoid (D) Coke

fareret wlteror & form S 6 g Bl 2 2 |
A) W B) wEwHEE . -
C T (D) =t

Which fever is confirmed by Widal £est ?

(A) Malaria () Typhoid

(C) AIDS

(D) Pneumonia

24/A/ XI[-SOUQ-iau;mj
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¥ve - §¥ / SECTION - B
WY IWHT W / Short Answer Type Questions
w1 ® 20 7Y g & | frdl 10 wvA & e § | ARw & R
2 31 Freife & : - 10 x 2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks : 10 x2=20

7 O T 1 gum qor fenfeor 39 @ § 2 2

How are DNA fragments separated and isolated ?

2/ ] ‘ELISA R P 2
‘What is ELISA ?

3. vrufyes ue fedfias scnewar | € ? 2
What are the primary and secondary productivities ? )

4, IO THE FTE ? | 2
What is Dobson unit ? o | )

5. HNEZ (MOET)®12 ?

What is MOET ?
6.  wiaee quanﬁw)‘a =l %@r T faa T & 2 - ,
| How is the name given to restnctmn endonucleases ?
7. IR HEASA sftwe T 2 2
What is cell mcdiéted immunity ?

8. W—QW%WWWW\D? . o,

porin-A and what is its use ?
' \

| 24 /A /XII- 9-135/40) | Page 29 / 32
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10.
11.

12.

13.

14.

15.

16.

17.

18.

~ tendrils of Cucurbita ?

“responsible for malignant malaria ? o

(119
WEVER (et st e SR (e THETEH) ‘?'“
mwaﬁﬁmﬁ(ﬁmﬂm)wz?

What are spermatogonia, primary spermatocytes and secondary
spermatocytes ?

mifdus Nt » 3R wi HA B ? 2
What are contraceptive pills ? How do they function ?

Y i) urh Y T w9 H | 2
Describe the structure of microsporangium.

f2-fr=m it = 2
Explain double fertilization. )

wufy gfa R FF FH! e @ 2 )
What are fhe factors which affect population growth ?

T ST 1 SATEAT 3 .2

Explain parasitic adaptations.
ﬁﬂﬁm%mﬁ@wﬁa%mﬁ(ﬁmﬁwmza 2

What is’ the relatlonsmp between thorns of Bougainvillea and

Wﬁﬁﬁauwﬁﬁ%m%ﬁ!gﬁn@ﬁvﬁz)m%mm
gt AR R ? . 2

Name the different species of Plasmodium. Which species is

sl ofem R E? R )\
What is incomplete dominance ? °

mnfms&naﬁaaqaﬁmw@wﬁ 0%, ﬁﬁm%w:ﬁ
=1 B ? 2
What would be the blood group of offspring, if the blood group o
mother is AB and blood group of father is O ?
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19. WA Symaeh favdww 3§ 7, awer, Ao v an w6 Ay F fTC wgen vt

1|

Draw the symbols used for male, female,
consanguineous mating in human pedigree analysis.

20. 9FE AR ofEgiem & oeg w9 § 2

What are the.goals of Human Genome Project ?

et 3w wy / Long Answer Type Questions

[ 119

2

mating and

mw’wzz#zsﬁa‘mﬁvw?rﬁmﬁ“amﬁ%m%:m%w

5 JF Fratfa &1 swe sfiam 120 =gt & g7 wmlEe

Question Nos. 21 to 26 are Long Answer Type Questions.

Ix5=15

Answer any

3 questions. Each question carries 5 marks. Give your answer in about

120 words. -
21. 9 fafdear it @it & Hwoi @ smer w5
Explain the causes of biodiversity loss.
22. Frefiem w wfim R fird -
(A) HIERRE =%
(B) | Tt gfewen)
Wﬁte short notes on the following :
(A)  Phosphorus cycle
(B)  Primary imniunity.
23. ffefea w wfym oot forg
() T
(B) SreTT Hi THEATH FT)

‘3x5=15
5
2x2=5
2x25=5

24 /A/XI1-5009- 35/ 40,
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Write short notes on the following :

(A) Allergy

(B) Chemical composition of DNA.

T SR 51 gad fefism ¥ g H4 P S g 2 5
How is gene of interest amplified by using PCR ?

fr=faRea s & w2 2x23=5

(A) AT w1 i ARETE F e § e 31 2
(B) NGET T & i Wil of e wm R ?
Answer the following questions :
(A) Stabjlity of DNA is higher than that of RNA. How ?
(B) What are the roles of three parts of transcription unit ?
fafafed w wfe et fod - | 2x25=5
(A)
(B) &g ()]
Write brief notes on the following :
| (A) Implantation

(B) Autogamy.

|
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